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W E: AXWAT Sylvester JEEHFE AXB+CXTD = F AK (R HER) EEITMH. F
F BT L 80 IR IR, SR8 T — AR AR T2 AXB+CXTD = E ZEHE,
WTALE YR AR (BR BR) HFE X1, fEABRIERD N, ZEVEER W I BRI AR B R (8L
RER) @R sfa, = NMUES IR T EIE A RN

x 2 i) Sylvester SEFEJTFE; Kronecker F7; FLHT 7 A%, e EEiEILfg; H R

MR(2010) EFH2S: 15B57 PESES: 02415
MERFRIRAD: A XEHS: 0255-7797(2015)05-1275-12
1 315

BN HCHRIFFS: R RIRm x n Bﬁi?ﬁﬁéﬁﬂﬁ%ﬁ, I FoRBAIERE, AT FoR5E
M A E’J%E A® B M A 55 B 1] Kronecker f1. (A, B) = trace(BT A), ||A| &
TRAEFE A ] Frobenius T84, || A]° = (4, A), [, Fﬁi o 12 - FEHL (el = (a,a).
% P? =1 H P" = P, WARSHERE P &R & A= PAP (80 A = —PAP), Wi
M A NRT RO P IA R (BURER) FEFE, id R "(P) = {A € R™"|PAP = A}. #
vec(XT) = Q(m,n)vec(X), Hr X € R UFK Q(m,n) NEHIEFE, H

Q(m,n) = Q(n,m)" = Q(n,m)"".
FEFE A = (a;;) € R™ ™ BIHRE+ vee(-) 7

vec(A) = [a11,a21, ", Qm1, G12, G2y s Amay -+ 5 Q1p, Gopy ,amn}T
VX)) Rom f(X) RT X MBEST, VX)) = (25 2L, 52 ) V2F(X) N
Hessian /%, K X = (z;;) € R™ ™.

ATVAGE R T RASHE RN B R PSR B RAFEE R G S Ew . TR, Bt
RO A AR A A |z N =21 i 4Rk, Sylvester #EFE 52 AXB + CX™TD = E =it
HEH I S 2 —, H HIRIR 2 R, HHBE T FEA2E, STk [3] FI A Moore-Penrose
J"XEH T AX + XTC = B f#3RIES, SCHR [4-5) H 3L H0RE kAR E S A ks 7 72
AXB+CXTD = E #/Nu$s/h — iR, 2011 £ 3CHR [6) A T XA+ AXT =0 11—,
2012 30k [7] thth AXB + CXTD = E Wl gk, STk [8] kT2 A, X B, = C,

Y #s HEA: 2013-06-12 FEYTHEA: 2013-07-30

EEUAR: ZRERERE AP AREEED (KJ2011B119).
EE ' X Fe (1972-), 55, ZHUBM, B, wit, EERTTF: R HE.
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Ay XoBy = D B R (B A R) SeFEin . ARG FEAME, 5 TAEES e, B P
P —Fh BRI B AEEIT AR, 2012 4 3CHk [10] e —FR &R AXB+CXD = E ME KX
(B AR) SAEITE.

HATE R WA AXB+ CXTD = E AR (B8R A R) SAEETFERSCER. —#
KU, BN Ty SRAF A P 7 RETC LR A AR (AR, (AR SR A2 HE B 5 2 1 iy 20 SR 2% A 0. FRATD
I LB T7 )k SRR, e is — AN RIAT 7 ), SRS AR IX AN AT U7 R PR I AH EL AL BE R [
J7 1), BT AR AG R R G I A PR CGE AR RE RS WS T4 R e /b A

AR BN )

& 1 AEME A C e R B, De R, E € R R X € RXY(P), 15

|E—AXB—-CX"D| = min. (1.1)
B8R 11 BRI IRSE SN Sp, 455 X* € RXY(P), 3k X € Sp 1§13
HX—X*H — min | X — X*|. (1.2)
XeSE

TR AXB +CXTD = E, #7ENRHAEN, Sp RMINES; e,
Sp BtER/N IRMBES. FTLEREM TR AXB + CXTD = E 2EMZE, #nLLHAA
Sp e 1 RES. M ILEE Sy B —AN58E X ¢ RXU(P) i e, iT
B A se B F S T, LM RGN S R AR, S PR T, R AR A
B X AT LLE S 3e IA Ge T oA S B3R

TR T (/N RSN (1.3) /D —TefE

|E~ AXB — CX"D||" = min, (1.3)

o X e RXE(P).
ASCHIGERINR: 5 2 505 H Rl T A0 a) R I A — AN B AR FRE B 45 S50 2 8
15 565 3 #5 F =AM BUEG ORI ZE VLA 2 58 4 SR 4.

2 [G)8R I #1011 pOEREE

TNTHIZE AR TR T A, SR BRI
FB1 AN Ac R BeRxn Ce Rl D e R fE e R,
HB 2 TH AR X, € RXY(P), Hi P e R RATET X KA FE;
$®3 iHH
R, =E—-AX,B-CX,"D;
g = ATRBT + DR,"C + P(A"R,B" + DR," O P;
Vi = ATAg.BBT + ATCq,"DBT + DBT¢,"ATC + DD ¢, CT C;
dy =V + PV P;
k=1,

S 4 WR g=0, ME IR, BENDE 5,
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BWE 5 vee(Xi) = vee(Xy) + 41 vee(ds), B Xisr = X + [ dss

U = ATAd,BBT + A"cd,"DB" + DB"d," A"C + DD"d,C* C;

gir1 = ATR BT + DRy "C + P(ATRy BT + DRy,," C)P
2
= gr— Hgk||2(Uk+PUkP),
ld|
Viei = ATAgeBBT + A"Cgii" DB + DB g1 " ATC + DD” g411 CT C;
dor = Vit PVinap + Loenl

lgxlI”

FEB6 MR gpyr =0, MHFIEIEA; B K =k + 1, LIRS

N T EZ SR RS, e R T e B

EE1 ®FX) = ‘' R=FE-AXB - CX"D, £ X ¢
RL(P),

(i) 775 X* € RXYP) i3 VF(X*) =0, H VF(X) = —2vec(ATRB”T + DRT ().

(ii) V2F(X) AEIEE R

W (i) 2 vee(XT) = Q(l,1)vec(X), Ay = BT ® A+ (DT @ C)Q(1,1),

F(X) = ||E-AXB-CX"D||" = ||vec(E — AXB — CX"D)|
= ||vec(E) — vec(AXB — CX"D Hz
= Hvec E)—[B"® A+ (D" @ C)Q(I, ))]vec(X HQ

= (vec(F)— AlveC(X),VeC(E)fAlvec(X»
= [vec(E)] vec(E) — 2[vec(X)]" A Tvec(E) + [vee(X)]" 4,7 Ayvec(X),

it A

VF(X) = 24,7 Ajvec(X) — 24, vec(E) = 2[A;" Ayvee(X) — Ay "vec(E)]
= —2vec(A"RBT + DR'C).

AR, FERE T RE Ay T Ayvee(X) — Ay vec(E) = 0 AN, WAEE X* € RXY(P) 13153
AT Ayvee(X*) — AT vec(E) = 0, Bl VF(X*) = 0.

(i) A VE(X) = 24,7 Ayvec(X) — 24, " vec(E), FTlA V2F(X) = 24,7 A,. T
FEY e R #HAH |AY|]° > 0= (A4,Y,AY) > 0= YTA4,TAY >0, Fibl V2F(X) K¢
1 JE 5E .

EE2M HScR” AME, f:SCR - RS KN AL Int S “YCESETIRL, £
x*eint S A f(r) B, HVe eintS, V2f(x) F1EE, W 2* N f(z) 7£ int S J:El’]é)%’]‘&

EIE3 & {X,), {g) A {d,} REFFEAERFH, W gy diy, X; € RXUP) (i=1,2,--).

W FHABCEFRGNERIES g;,di, X; € RXYP) (1=1,2,--).

M =11, FramIvIsaErE X, € RUYP), B8 g1 € RXY(P), d, € RXY(P).
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FEBY 0=k (k> 2) B, gi, di, X € RU(P) G50HOT. 2 =k + 1 I,

2 2
Pg1 P = Plgx — ||gk||2(Uk + PULP)|P = PgP — ||gk||2(PUkP+ Uk) = Grt1,
el A
2 2
Pdy1 P = P(Vipy1 + PVi P+ ||gk+ﬁ|2| di)P = PViy1 P+ Viyr + H|gk+ﬁ! PdyP = dj1,
9k 9k

2 2 2
PXy P =P (Xk + ”9’“”2dk> pP=rpxp+ 19 pypx ol gk
|l [l | |l

M gi,di, X € RXUP) (1=1,2,---).
FIE 4 A X e RXU(P) & VF(X) =0 [, {X.}, {9} B {d;} REL=HMT5H.
W g A0, M d; #0 (i =1,2,---,5).
IE A ECEAGEY (d, X — X3) = |al® =1,2,---,s), Zi=1H,
(dy, X* — X1)
= (Vi + PP, X" — X,)
= (ATAgBB" + A"Cg,"DB" + DB"¢,"A"C + DD" g, C"C, X* — X1)
+ (A" AgBB" + A"Cg,"DB" + DB ;" A"C + DD"¢;C" C, P(X* — X;)P)
= 2(A"AgBB" + A"Cg,"DB" + DB" 9" A"C + DD"¢:C"C, X" — X1)
= 2(A"AgBB" + DD"9,C"C,X* — X,) +2(A"Cg,"DB" + DB"¢,"A"C, X" — X1)
= 2(A"AgBB" + DD"¢,CTC, X* — X,) + 2(BD"g;C" A+ CT Ag,BD", (X* — X;)")
= 2(g;,ATAX* - X,)BB" + DD"(X* — X;)C"C)
+2(g1, DBT(X* — X;)"ATC + ATC(X* — X,)" DBT)
= 2(g1, ATA(X* - X,)BB" + DD"(X* - X,)C"C + DBT(X* — X;)" A"C
+ATC(X* - X,)" DBT)
= (91.2(A"R,B" + DR,"C))
= (91,A"R\B" + DR,"C) + (91, A"RiB" + DR,"C)
= (91,A"RB" + DR,"C) + (Pg,P, ATR,B" + DR," C)
= (91,A"Ri\B" + DR,"C) + (g1, P(A"RiB" + DR," C)P)
= (91, A"RiB" + DR,"C + P(A"R,B" + DR,"C)P)
= gl

BBt i =k (s> k> 2) B, {di, X7 — X) = llgall” BROL 20 =k + 10,

2
I

(g1, X* — Xir1) = Vg1 + PV P+ |fk+l dig, X* — Xpy1)

\gk |2

2
= (Vig1, X" = Xpop1) + (Viy1, P(X™ — Xi1) P) + ”ﬁ;JTL (d, X* = Xiq1)
k

= (2(A"Agu BB + A"Cgs"DB" + DB" gy s "A"C + DD" g1 CTC), X* = Xpi)
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2
H9k+1||

+ 2
1wl

(d, X — Xjoy1)

2
= {grs1,2(AT Ry BT + DRy, "C)) + ”ﬁ’”i'z' (dy, X* — Xpy1)
gk

= (gr41, A" Rey1 BT + DRy " C + P(AT Ry 1 B" + DRy O)P)

2
=+ Hgk+1! <dk,X* . Xk+1>
gl

2
_ 2 ||9k+1|| de X* — X
= |lgrs1l” + g “2 (d, X — Xpq1)

k

2 2
_ 2 |lgr+all . gl
= grnall” + 5= ( di, X7 — X} — 5 i,

[ ||

2 2
= g P + Jgenl [<dk, x = x =l dkﬁ
el el

2 2

2 ||9k+1|| 2 ||9k|| 2 2

= [lge41lI” + e lgrll” — d ||2IIdeI = |lgk+all”
k k

B (di, X7 = X3) = [gal|* BT, BT g £ 0 B, P £0 (i=1,2,--- ,9).

B 5 A g M dy REEAER, vee(i) = Q(I, 1) vec(g1) = Qvec(gr). R g1 # 0,
M VEF(X,) vec(dy) < 0.

HE

VF(X) vec(dy) = (—2vec(A" R\ BT + DR,"C), vec(d,))
= —(2vec(A"RiB" + DR," C), vec(Pd, P))
= —(2vec(A"RiB" + DR, C), (P ® P)vec(dy))
= —(vec[(A"R\B" + DR,"C) + P(A"R\B" + DR," C)P], vec(d,))
= —(vec(q1),I + P® P)vec(A"AgsBB" + A"Cg," DB + DB" g;" A"C + DD" ¢,C" C))
— —[vec(g)]" I+ P P)[BT®@ A+ (D" ©C)Q]" [BT ® A+ (D" ® C)Q] vec(g1)
= {[B"@A+(D"®C)Q] (I +P® P)vec(gr)} [B" @ A+ (D @ C)Q] vec(g:)
— {[B" @A+ (D" ®C)Q] 2vec(g1)} [BT ® A+ (D" ® C)Q] vec(g:)
= —2||[B"® A+ (D" ©C)Q] vece(gr)||2 < 0.

% || [BT ® A+ (DT  C)Q)] Vec(gl)”; =0, W [B"® A+ (D" ® C)Q] vec(g1) = 0,
ENITEIESS

vec(di) = (I+ P& P)[B" @ A+ (D" ® C)Q]" [B" @ A+ (D @ C)Q] vec(g:) = 0.
KA g1 # 0, IR¥EEEE 4 7[1§ d; # 0, X5 vec(d;) = 0 FJ&, FrbA

~[|[B" @ A+ (D" & C)Q] vee(ay)|[; < 0.
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Bl VF(X,) vee(dy) < 0.

SEHL 5 R T HBAR IR I vee(dy) & NAATHE R BT R T IEDEIE B BT 148
EAEL R

EIB 6 {g} f{d;} REESEMTH), BHd #0 (i=1,2,---,1), 1

<gizgj> =0 ; <di7dj> :0<27] = 132a"' ,Z’Z#]) (21>

iE A (A, B) = (B, A), b A, B e R FTULRTFAEW Y 1 < i < j B 458 8o Rl
Al RGN P R B2 45 18
F—% W (g,0i41) =0 H (di,disy)) =0 (i =1,2,---). Hi=1H,

2 2
(91,92) = (91,91 — ||gl||2(U1 + PU,P)) = (91,91) — ”91”2 (91,U1 + PULP)
[|dy|] |||
2
g g
—|mW—”;Lmhw> WmPMH—H|—Lﬁ<m,w>
1 1
9
= |loull” = ||Hdgl|| (g1, AT Ad,BB" + A"Cd," DB" + DB"d," A"C + DD"d,C" C)
1
9
= gl _||Hjl||2 ATAg BB + ATCq,"DBT + DB ¢,TATC + DD ¢,C7C, d,)
1
2 2
= o2 = 120 vi PPy = g - 190 v 4 Py ay)
lldu || lld ||
lg1)?
1
dods) = (duvat Pvap+ 120 gy i oy Lol
(172>—<1,2+ 2+H|1> ( > <171>

all lg1)?

2
= (d,2(A"AgBB" + A"Cg," DB" + DB" g," A"C + DD" g,C" C)) + lga (dy,dy)

g 1”
2
= (2(A"Ad,\BB" + ATCd,"DB" + DB"d," ATC + DD"d,C"C), g5) + ”92”2 (dy,dy)
||91||
_ lgI” _ lg2I”
= (2Uy,92) + 5 (d1,d1) = (U1 + PULP, go) + 5 (d1,d1)
g ll gl
dy|I? g
~ (L gy + ol e
g1 g1l
di | g
= DA gy g+ D02
g1l g1 |I”

Y 0 <k — 1 (s > k > 2) ShBHOL Yi =k I,

2 2
g gk
(G, Gry1) = <gk;9k — | kHQ(Uk +PUkP)> = ||9kH2 - ||||dk||’2 (9K, 2Uk)
k

= gll® = lgel® 5 (A" Ag. BB + DB" g," ATC + A"Cg," DB" + DD" g,C" C,2dy,)
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= el = 19 e oy — g = 19 s g+ pacpy
AR TG

= g ” _||9k||
I I”

llgxl? x|l
= |lgull? — =55 (de — Sdye 1, dy)

5 (Vi + PV P, dy)

[l llgr—1l
2 ||9k||2 2 ||9k||2
= |lgull” = s (k™ — 5 (dk—1,di)) =0
[l lgr—1ll
2
(di,dgt1) = (d, Vg1 + PV P+ |£|]k+ﬁ” di) = (di, 2Viq1) + ”ﬁ;ﬁ! Il )?
Ik k

= (di,2(A"Ag11BB" + A"Cgy11" DBT + DB g, 1T ATC + DD g1 CTC))

||gk+1|| || ||

2
gl

= (2(ATAdyBB" + A"Cd," DB" + DB"d," ATC + DD"d;,CTC), gi41)

lgnsall” lgnsall”
+ 2P = U, grrr) + e |l di |
g gl
gl
= (Ug + PULP, gr41) + || +”2 lld ||
Ik
||| gl
= D) (k= Grt1, Grg1) + 2 ld H
||| l| g

W (gi, 9iv1) =0 H (di,diy1) =0 (1 =1,2,---) BOL.

o

M.

B WIS PR, B TR Ak &H (95, 9i406) = 0 H (di, diyr) = 0 1K

—FEiEEﬁ <givgi+k+1> =0 E_ <diadi+k+1> =0 ﬁij

2 2
Gi+k Gi+k
<givgi+k+1> = <giagi+k - H + ||2(Ui+k + PUi+kP)> = - H - ||2 <gi72Ui+k>
il disrl
2H9i+k||2 T T
~lddl” (gi, A" Ad; xBB" + ATCd;y," DB" + DB"d; ' ATC + DD"d;,,C"C)
2l gissll?
—”97““”2 (ATAg;BB" + A"Cg;" DB + DB" ¢;" ATC + DD" ¢;,C" C, d; 1)
| ditrl
2||gisull” gl
——— (Vi,dign) = — 5 (Vi,digr + Pdiy 1 P)
disrll it rll
2 2 2
_ ||gl+kH2 <‘/'Z + P‘/ZP, d7,+k> —_ _ ||-g7«"!‘k||2 <dz _ ||gl|| 2di717di+k> — 0’
disrll disrll lgi—1ll

2
(dis diyr1) = (dis Vigws1 + PVigp P+ MQZNHJ

gl

2
(dis 2Vigrs1) + M (di, digr)

gl
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= <di; 2(ATAgiy11BBT + ATCgi ki1 " DBT + DB giy g1 TATC + DDTgi+k+1CTC)>
= (2(ATAd;BB" + A"Cd;" DB" + DB"d;" A"C' + DD"d;,C"C), gi1+1)
il

= 22U, gitkr1) = (Ui + PUP, giyj11) = 1917 (9 — Giv1, Givks1) = 0.

FEE— b AEE 0 AT 18 (gs,9;) = 0 H (diyd;) =0 (i,5 = 1,2,--- ;i # j) L.

T 7 # VX, € RXU(P), Hrp P e R XH AR, HkRerE A BRIERDS N33
] T

WE B g #06=1,2,---,1%), HEH4 A, d #0 (i=1,2,---,12), KILREE
LR X2y M gy, HEE 6 1115 (g5, 9201) =0 (i = 1,2, ,12) Al (9i,9;) =0
(i, =1,2,--- 12,0 # 7). BN {g1,90, -, gz} EHBEA[A] %Z: HIIEAZHE, FTbL gp2qq = 0, B
AHESH VE(Xp24) = 0. HEH 1- @ 3 718, Xy ARET B H R

T 8 1 BB H/NFIRIE | Mz — b]|, = min Hff 2* € R(MT), W o* 2% 4
B IRR /N B /S — TR

EHE 9 P kT, WIRIAIIAER X, = 3(ATNBT + DNTC) + ;P(ATNB™ +
DNTC)P, Hih N € R K5l X, = 0, BIEREETEA PRIEAD ]IR1F IR 3 T ik /e
/N e H i

IE WREIIRE R X, = J(ATNBT + DNTC) + 1P(ATNB" + DNTC)P, fEH 7
AL BVEREAEA RIEAOE WA IR T R X, B X BRI K

X* — %(ATNBT +D]\~[TC’) + %P(ATNBT +DNTC)P.

it vee(XT) = Qvec(X), HH X € RixL
TNTEARIER] X S T AR NE B R i

min ||E— (AXB+CX"D)||
XeRXH(P)

=  min ‘E 1 (AXB+CX"D) - 1 (APXPB+CPX"PD) H
XeRX!(P) 2 2

= min

vee(E) — ~vee [(AXB+ CX"D) + (APXPB+ CPX"PD)]
XeRlxL(p) 2

2

vec(E) — % {B"® A+ (D" ® C)Q + (B"P)® (AP) + [(D"P) ® (CP)|Q}

= min
XerXl(p)

vec(X)|, -

%‘1 N c §Rm><n7 )I_\“J
vec(X™) = Vec[%(AT]\NfBT + DNTC) + %P(AT]\?BT + DNTC)P]
= %{BT @A+ (D" ®0)Q+ (BTP)® (AP)+ [(DTP) ® (CP)]Q}Tvec(N)

c %(%{BT ® A+ (DT ®C)Q + (B"P)® (AP) + [(DTP) & (CP)Q}).
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MO IR X, = J(ATNBT+DNTC)+1P(ATNBT+ DNTC)P i, $3 X, = 0,
R HE 8 RIS, SRR B R X B B R NS IR
FE R RIfRSE Sx NARESE, X TG IEIL M, Kb X e RXY(P),

min |E - AXB - CX"D|
XeRXt(p)

—  min H(E ~AXB - CX"D) - A(X — X)B - C(X — X)TDH .
XeRXH(P)

4 X=X-X ME=E-AXB-CX"D, A& A8 8T S50 T4k (2.2) R
11 s W /NS B /s — e fi.

min ||E - AXB-CX"D||. (2.2)
XerXl(p)

HHEETT1E (2.2) R B AN B /N =T fid X+, AT el 8 1 AT i & st
B X = X* + X.

3 HEslTF

AFTH ZANBUER TR IGAE LR FIEMTTAT M. B0 TR R T AXB +
CX"TD = E A HI8 IR AZMHMER, RiZ RN B ReE BT, 51012
YT RE AXB + CXTD = E A HE IR R R Z 5 PR, SRiZ TR B s gl
il B 5 — MO 4 BT R AXB + CXTD = E A B Ui F@E T 5 [ AR R A6 FER, SR
AXB+ CXTD = E W R&EEEM. H Matlab2007R #4707 EAE, BUCHIHE B 5O R
X, =0.

{51 1 25 58T THI B /N 4% 1)

|E - AXB — CX"D|| = min, (3.1)

-3 -2 7 3 -1 0 00O
4 -2 9 -7 11

6 5 g 5 -6 1 -2 5 =2 00 00

C = ,D=14 3 1 -3 9 |, X=]0000
-13 2 4 -5 1

-5 -3 2 4 6 0 00O
8§ —6 2 6 =2

2 3 -6 11 -11 00 00

o O O O O
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-2064 -1543
| 261 2m
119 -524
-563 1059

1510
227
720

=773

838  -195
742 304 B
1683 4651 |
796 -3000

AT PASGUE R X st2%E T AXB +CXTD = E A H IR,

A Frea IS, 154029 D153

3.0000
—5.0000
3.0000
7.0000

3 -4 -8 -2

-5 2 12 12

-4 3 -2 =8

-6 7 9 -3 4

7T —6 4 =3
—4.0000 —8.0000 —2.0000
2.0000  12.0000 12.0000
1.0000 —2.0000 —8.0000
9.0000 —3.0000 4.0000
—6.0000 4.0000 —3.0000

7.0000

o O O O
o O O O

€ R(P),

Ry = ||E — AX5B — CXa" D|| = 4.2299¢-012,

529 = ||X2g - X” / HXH = 782626-015,

1.0000
2.0000
X29 - —40000
—6.0000
9.0000
GEINALE S
FHXS IR 2
NS IV SIS w8

5 2 5 RE (3.1) R EIRFE, A, B, C, D, P fl X [Ffl 1,

-2060

261

-119
-563

-1543 1510 838
-271 227 -T42
-524 720  -1683
1059  -773 796

-195

304
4651
-3000

A LAGAEIZ A FE AXB + CXTD = E AH%, FIFHZE3

1.0009
1.9442
X1 = | -3.9952
-5.9965
9.0038
AL ) 2 350

3.0041
-5.0596
3.0041
7.0020
7.0020

-3.9952
1.9442
1.0009
9.0038
-5.9965

-8.0070
12.0414
-2.0278
-2.9887
4.0117

-2.0278
12.0414
-8.0070
4.0117

-2.9887

Ry = ||E — AX5 B — C Xy, D|| = 2.0560.

€ R(P),
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1285

B3 3% 1& (3.1) RN, A, B, C, D, E 1 P [Ffl 1,

10 10 10 10 10
10 10 10 10 10
10 10 10 10| € R2*5(P).
10 10 10 10 10
10 10 10 10 10

S
I
=

AL, AR 37 5153

-9.0000  -7.0000 -14.0000 -18.0000 -12.0000
-8.0000  -15.0000 -8.0000  2.0000 2.0000
Xs7 = | -14.0000  -7.0000 -9.0000 -12.0000 -18.0000 | € R>**(P),
-16.0000  -3.0000 -1.0000 -13.0000 -6.0000
-1.0000  -3.0000 -16.0000 -6.0000 -13.0000

FTBL B e8I g N

1.0000  3.0000 —4.0000 —8.0000 —2.0000
2.0000 —5.0000 2.0000 12.0000 12.0000

Xar = Xar + X = | =4.0000 3.0000 1.0000 —2.0000 —8.0000 | € R>*°(P),
—6.0000 7.0000  9.0000 —3.0000 4.0000
9.0000  7.0000 —6.0000 4.0000 —3.0000

FHIRE R 2 01
Ry = HE — AXyB - CXSQDH — 3.4050¢-012.
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AN ITERATIVE ALGORITHM FOR THE REFLEXIVE OPTIMAL

APPROXIMATION SOLUTION OF MATRIX EQUATIONS
AXB+CXT'D=F

YANG Jia-wen! , SUN He-ming?
(1. Department of Basic, Chuzhou Vocational and Technical College, Chuzhou 239000, Chma)
(2. College of Science, Hohai University, Nanjing 210098, China)

Abstract: In this paper, we study the optimal approximation solutin of the Sylvester matrix

equations AXB + CXTD = E over reflexive (anti-reflexive) matrices. By using the proposed
conjugate direction method, we get a result that whatever matrix equations AXB + CXTD = E
are consistent or not, for arbitrary initial reflexive (anti-reflexive) matrix X, the reflexive
(anti-reflexive) optimal approximation solution can be obtained within finite iteration steps in
the absence of round-off errors. The effectiveness of the proposed algorithm is verified by three
numerical examples.

Keywords: sylvester matrix equations; Kronecker product; conjugate direction method;
optimal approximation solution; reflexive matrix
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